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8) If the cutting plane is parallel to the axis of the cone and intersects both nappes, then curve of intersection is a

« a) Hyperbola b) Circle c) Elliplse d) Parabola
9) For all non-zero values of m, y=mx1 ﬁ_."'ir:'.;gmz — h?
a) ¥° = dax s/b)xf }’f _ 1 )x%+yt=a’ d)ff_: _I_J-"f _q
a« b a2 ' p2
10) Angle between non zero vectors U & 17 is 0 or 7T then these vectors are
a) Parallel b) Collinear +¢c) Both 'a' and 'b' d) None of these
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12™ Mathematics

Full book solved MCQs ﬂ%mkcworg@o
= Objective Type

= 1. Encircle the Correct Option. G715 5 yyd N2 s ]
% 1) If xy - coordinates of a point are (3,2) and axes are translated through O' (1, 3) then XY - coordinates will be

= | (1,2 b) (1,2) ve)(2,-1) d) (-2,-1)

% 2) j e** [2 cosx — sin x]dx

= | e 2cosx +¢ b)e* sinx +¢ V) g cosx +¢ d) —e® sinx +c¢
?f@\

= 3) Equation of the line with y - intercept : =7 and slope =5 is /,ﬂgf%ﬁ

§ a) 5x -y =17 b)y=T~5x M&\é@%wzo d)y=5%-7

= N\ </

= 4) If @ and & are two non - zero vectors, then a vector per[%@ff%lar to each of the vectors 1s

= <

% vaaxh b) |b X al ﬁW>\}\> c)a.b db.a

% 5) The maximum and minimum values oﬁ@? ctlve function occur in the feasible region at:

: | 3~

g a) Origin v b)\Corner points c) Any point d) Bothaandb

= N

% 6) Parallelogram law of addﬁigﬁéf vectors was used by

g a) Newton Vb) Aristotle c) Leibniz d) Lagrange

E D— (sm (— ) =

% —a a 1

= a) 3 3 v'b) . 2 c) sk B | ol d) 7= 3

= xVx? —a? wWx©—a wa —x JxZ— a2

%
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g 11) For a conic the fixed line L is called a

% v a) Directrix b) Vertex c) Axes d) Latusrectum

% 12) If foci are {E T+ 5*-.'@,. —?} and length of the transverse axis 10, so then equation of hyperbola 1s

% )Y 2 1 b) c) vd)

| | * & (x-2° -2 |- x-5? |G- 0+D?__
% S 27 0 4 - gl I —
% 13) An equation of circle with radius 't' and lying in fourth quadrant such that it is tangent to both axes is

% ) (x+1)° +(y+1r)’=r b)(x-1)* +(y-n)?=r° )(x+1)-(y-n=r’ v - -(-’=r
% 14) Two intercepts form of 2x =4y + 11 = 0 is

= x 11 EINE N 11

= | Yy=5+t7 nIT T P § A Ay = 2x 4

= 2 4 2 4

= I IFFG) = [x|is

% 16) A function in which the variable appears as exponent is called:

% a) Logarithmic function b) Rotational function vc) EXpon(egﬁgl function d) Constant function
; ay a4

= 17)Ify = tan’x, then — = o)™

= dx

= 4

= a) 2tanx sec’x b) tanx sec”x 5 “eXtanx sec”x d) 2 tan x sec x

- ax o> 5

= O)~ _

= 2) E_I b) 3 (ﬂ{\ /\gg vc)3*. In3 d) x3*

% ke AN

NI

= 1 9) Implicit relation is symbop@Iertten as

= | Dy=t( “Fon =0 Hx=11y )y = Pk = g l)
% 20) The difference of focal distances of any point on hyperbola is

% a) 2a b) -2a V) £2a d)a

% 21) All the points on a vertical line remain at a constant distance from

% a)x - axis Vb) y - axis ¢) Both axes d) Origin

% 22) Inclination of a line passing through (0, 2) and (0, 4) is

= | 2)30° b) 60° ¢) 45° v d)90°

= 23)f(x) = e*(1+ Inx) then f' (x)

g o X | oX | 1

- a) — \/b)—+{"1+111;1fj| 2= +) M- de*lnx +—

= X S X X

% 24) (3,2) is not in the solution of inequality:

= | Dx+y>2 vhx+y=l ¢)3x + 5y>7 d) 3x + 7y >3

%
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= 25) If f{x) = acos 3x and [ (E) = 6 then 'a' equals :
g a)_i b)1 V)2 )= %
% 26) The differential of x is denoted by u@ pakcﬂy.org %D g
% Va)dx b) (dx)’ c) E d) None %
= AV E
% 27) [t = al + bj + EIE, then projection of 17 along I is %
% i b)b ve)a d) None %
= 2®)uu=? i
% va) |ul b) |u] c) Zero d1 %
% 29) Equation of horizontal lin passing through (-5, 3) is %
E | 9x=- ¥bly=3 c)3x~5y=0 d)5x+3y=0 =
% 30) Mid point of Hypotenuse of a right triangle 1s equidistance from its %
g a) Mid points of sides b) Right bisectors v ¢) Vertices d) All of these %
% 31) The line y = mx * c intersects the circle X + y2 = a’ in at most (0, %
= K =
—_ /_ .. 2= -
= v a) Two points b) Three points c) /911(3&,)1‘& d) Four points =
= _ 1 14+ x ANV g
= 32) The domainoftanh™' x = = 1n ( ) is O%\ 9\2\ :
E 2 1—x z ;,/Hhrf,} E
= VA% — -
g Va) |X| <1 b) |X| = 1 {@\y C) |X| = | d) |X| > 1 g
= N =
= 33) The derivative of cos ' x atx = 0 is A\ /&Q =
= TR =
% a) Zero \6@ c) 1 d) 2 %
_§_ . i N - . E
= I flx) = Vx + 4, th@@-&)ﬁ- 4} :
% ) Jx? + & vb)x?+8 c)/x% +8 d) x %
% 35) The solution set of the inequality ax + by > c is: %
% a) Closed halfplane b) Circle « ¢) Open halfplane d) Parabola %
% 36) J‘(ﬁ: + |x|)dx =7 %
= =
= | ! b)2 V)4 d)8 =
% 37) Ify = f(x) and x = g(y) are inverse of each other, then f(g(y)) = %
= [ vy D) x Iy Dy
% 38) The solution region which can be enclosed by a circle is called: %
% v a) convex region b) Unbounded region c) Circular region d) Non-convex region %
§ 39) A vertical line divides the plane into two half planes: %
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42) The length of'the tangent from a point P(x, y,) to the circle x” + y2 +2gx+21fy+c=01s

a) v'hb) ) xr +3 = a’ d)
'I 2 iy ) - . - 2 ?2 " Y '
Xty +2gx+2fy+c xxi.+},1¢_|_2gj{.1+2f},l+ﬂ x;+w +2gx, Hify e
43) In the graph of y = e*,e* = 1 when
a) X = —o b)x =+ —co Jdx—= 1 vdx =
. . . - a .
44) The solution of differential equation P V1S
X
a)y=¢e vb)y=ce ™ c)y = ce* dx d)y=¢e"
45) Work done of a force on a particle is
v a) Scalar quantity b) Vector quantity c) Zerg«? \ d) None
O
46) An equation of ellipse with foci '[ 3 3 EI} and vertices -|"+ E“W
; _:.:'*_ _:[-E IE e _;E | ;.E- ;J[:E
% P b) y 1 r b =1 a2 =1
36 9 36 9 /\f/l 9 36 9
f*‘\x\>
47) The fixed point from which all the points ({f@mfé are equidistant 1s called
S
a) Vertex vb) ,C@@e\”\ ¢c) Origin d) Radius
48) The direction cosine of z /@
a)[1,0,0] \’b)[O,I,O] vc)[0,0,1] d[1,1,1]
49) j 5 dX =
va®+ x?
l WREE i\ 1 % 1 X
Va)— sinh‘l( ) c b) sinh™* (—) +c ¢) ——.-sinh™? ( ) d)— tan™1 (—) e
il a ﬂ-- a Q- @ @
50) A point of a solution region where two of its boundary lines intersect, is called:
a) Origin b) Test point v ¢) Corner point d) Half plane
. ¥= 5
51) Directrices of hyperbola 2 = =1 are
- ﬂﬂ*.
- -
)Y =3— b)y=0 veo)r=1— d)x=0
< g
52) If f(x) = (x + 1), then value of £ (x) is
a) (x + 1)’ b) (x* + 1) veo)(x+3) d) (x +3)°
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A A
« a) Left and Right b) Upper and lower c) Bothaandb d) Open halfplane
40) The ellipse and hyperbola are called central conics because each has a
v a) Centre of symmetry b) Focal chord ¢) Axis of symmetry d) Latus rectum
41) Ifx = a%, theny = log, x,a>0,a # 1 is called
v a) Logarithmic function | b) Exponential function ¢) Hyperbolic function d) Trigonometric function
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53) Ifj{fl}:hf + k)dx = 2 thenk =
0
v a) zero b) 2 c) 1 d) 4
54) The common intersecting point of all the generators of the cone is called
a) Centroid b) Apex c) Vertex v d) Bothb & ¢
55) The minimum value off{i»'} =x*-x-2is
< . 2 <€
a) —— b) — ve)—— d) —
2 9 4 9
ge e . .
56) The graph of 1 - £'§| = 1 1s symmetrical about
a) X - axis b) y - axis ¢) Origin d) Both axes and origin
57) The perpendicular distance from the point (2, 1) to the line 3x + 4y + 5 = 0 is
2) 10 vb)3 02 e
3 5
58) If any two non-zero vector are equal in scalar triple product, then its value is
v a) zero b) 10 c)2 d) 1
Al O,
RN
59) The equation ax” + by” + 2hxy + 2gx + 21y + ¢ = O represents aﬂciri@/if
N\
a)a#b,h#0 b)a% b,h=0 fiDasbh=0 vda=b,h=0
%
60) Foci of an ellipse always lie on /\ﬂp\y
. 0> e . .
a) Centre vb) Major a\xf'{g )f;/ c) Directrix d) Minor axis
61) If the intersecting plane is parallel o wenerator of the cone, but intersects only one nappe, then curve of intersection is a
RN
a) Circle J (@éy%\érbola c) An ellipse + d) Parabola
3
62) Domain of a constant function is
va)R b) Q ¢c)N d) W
63) If @ and & represents the two adjacent sides of a triangle, then area of triangle is
Da.b b)|b X a laxh o) 1 5n
64) I X =
a) 1 vb) —i c) zero d) 1
65) If m, and m, are slopes of Perpendicular lines then
a)ml = 1My V’b)mlm_z:—l C) m;m, = | d) 100§] ,imz
COsX
66)j —dx =
sin x Insin x
a)In{sinx) + ¢ b) In(ln cosx) + ¢ vo)ln{lnsinx) + ¢ d)In{cosx) +¢
67) In conic the number e is called
L T e EE e e i e e i i e e e i T e T i i T e e i i e e v e e e
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% a) Focus b) vertex v ¢) Eccentricity d) Axes %
% 63) j Jai—x2dx = %
= | @ vb) o) 0 %
= —afg"— X" — COSs — C —_I'EL_;¥L — SIn — | C —ala* .1: __511-1 L) C _ 'ﬂ.r. l!|; _CDE . C E
= 2" 2 4 3" ‘ Q- & 2 a 2 2 \Q =
% 69) Equation of hyperbola with centre (0, 0) focus and vertex (4, 0) is %
: ¥ -l gs g ol =
= 9 16 9 27 16 20 36 45 E
g 70) If 90° < ¢x < 180° then slope of line having inclination ¢ is: %
% a) Positive vb) Negative ¢) Undefined d) None %
% 71) The point of intersection of right bisectors of the sides of a triangle is called %
% a) Centroid b) Orthocenter Vv ¢) Circumcentre d) In-centre %
% 72) Associated equation of ax + by < ¢ and ax + by > ¢ is: %
% a)ax+by=0 Vb)aX'l'by:C C)aX+by<c d)aX+by+C=0 %
= 73) The position of point (5, 8) with respect to the line 2x =3y + 6 = 0is <\ %
= [2), =
= v a) Above b) Below c) On’% line d) None =
: ~\CT =
= 74)1f(3,1) and (5,1) are end points of diameter of a circle. gh\ﬂm rdinates of centre are. =
= [ 009 b) (-4,1) -1 voan D (4.-1)
- B\/F/ =
= 75) A suitable substitution for .,/ a2 4 y2is <f-~ *L/ =
g a) x = asec 7 \/b)/&&\\taﬁl? c)x=asinf d) All %
§ ) 7 =
= 76) Unit vector ii is defined as A\ % %
= ) u =
= | Dulul \/b)HJF |u| \/c)‘ ‘ d)u — |u] =
u
g 77) The line segment joining the mid points of two sides of a triangle is to the third side %
% v a) Parallel b) Perpendicular c) Coplanar d) Collinear %
% 78) The endpoints of minor axis of the ellipse are called %
% a) Vertices b) Foci « ¢) Convertices d) All %
= 79) Differentiating sinx w.r.t cotx we get %
§ a) cos” X sin x vb) - sin” x cos x ¢) sin” X cos X d) - cos” x sin x %
% 80) An equation of ellipse with centre (0, 0) focus (0,-3) and vertex (0, 4) is %
g X = v - | ﬂ }12 | ¥ 2 ¥ 2 . ﬂ v ¥ g
= |aA)—+—=1 b)—+—=‘1 )— +2 _ —1 \/d)—+_=1 =
= le 1 I 16 16 25 e 7 =
% 81) ax + by + ¢ = 0 shows a straight line with slope %
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87) The variables used in the system of linear inequalities relating to the pw@;s’) of every day life are called:

a) Negative constraints

b) Negative coefficients

—

7o\ P
ve) I(\I(C)}‘n)— negative
TS\
O<\\\ _5)\? traints

d) Problem constraints

(cHY

88) If the line segment obtained by joining any two poiats

-
Do
<o)

he region lies entirely within the region, then the region 1s

called:
A D
v a) Convex b) Ccu(c@e 3 ¢) Open half-plane d) None
A3
. d_-:![_ .‘\‘g\‘\\
89) | —/—— o
yx©—a© Q\f N
X X
a) cosh 1{—) + b) sinh 1(—) +c V) d) botha & b
L L
In(x +/x2 —a?)+c

90) Radius of circle 5x° + 5y” + 14x + 12y - 10 = 0 is

a) /85 b)+/a5 l; IE

\ \

91)Ifa* (1+m?) - ¢* = 0 then points of contact ofy = mx + ¢ and x* + y2 = a’ are

« a) Real and coincident b) Imaginary ¢) Real and distinct d) Unequal
92)j sec? (ax + bldx =

a)tan{ax + b) + ¢ b)r:m{ﬂ;t‘+b} . vo)tan (ax + b) - d)cnt{agx—|—b} -

ol L 2

93) An equation of the normal to the circle x* + y2 =25 at(4,3) is

va)3x-4y=0 b)4x -3y =0 c)4x + 3y =0 d)3x+4y=0

Please visit for more data at: www.pakcity.org
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. b G b
va) —— —— &) — —
n b) = b d) =
1 1 1
82) If jf{;r] dx = 5, jg(x] dx = 4 then J[E flx)+ 3g (x)] dx = u%pakcity.orgga
a) 20 b)9 V)22 d) 1
83) If fix) = — 7 then domain of FLis
a) R - {-3} b)R-{-1} v¢)R-{0} d)R-{1}
84) An equation of circle passing through A(3,-1),B(0, 1) and having centre at 4x - 3y -3 = 0 is
s/a)x2+y2—15x-18y+ b)x2+y2+15x+18y+ c)x2+y2+15x-18y—17 d) None
17=0 17=0 =0
85) Every homogeneous second degree equation ax” + 2hxy + by2 = 0 represents a pair of
a) circles b) parabolas v ¢) lines d) ellipse
86) The magnitude of the position vector of any point P(x, y) is
a) ‘|‘|i|'_':!|::2 — }?2 Vb) *..u'[.."-'!l':E _I_ }:.E_ C) ‘|.|illxz}? i d) .]I'::‘I'}’ 2
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106) A function ffrom X to Y is denoted by
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= d :
= 94)— (sinhx) = =
= dx =
% v a) cosh x b) - cosh x & Yesahin O - sinh x %
§ 95) The centre of the circle (x-1)% + (y +3)? =13%is %
= | 2(-1,-3) b) (-1,3) ve)(1,-3) d)(1,3)
% 96) Derivative of {3;:.:14;""3} W .I.t X 1s %
: - 4 1 4 a. =
= a) None vb) 43 o) — w5 s j{_é}, ’ =
- 3 3 =
§ - ﬂ':" é
= 97)Ify = cos4/x, then—= =
" dx
= | ¥sinyx py SV Fo)— VR d) —sin+/x %
= 24/ x 24 x =
% 98) J (2x + 3)%dx = %
% 2x +3)° | ) (2x + 3)5 4(2x + 3)3 e
= a){'zi +3} L - Vb)£2x+3} o C)tEI_I_E} - d) L _ ) +c =
= . 10 2 10 =
§ 99) The length of Latus rectum of the parabola y2 = 8x 1S %
g 7 “\\L/ S E
: ' 220 2/ :
- 100)18101)1 intercept from4x + 7y -2 =0 1s , { é\\ S %
g ¥ ! : i - 2 C{} 2/ —4x 2 _ i g
= a) 1 E_l b)}-‘:—;,-.;—— /(7/&6 ¥y = — d)y—4x 2 =
= 5 7 7 I (1 (P 7 ) =
g | /"'""“\ \ (D g
g Lgfy/ =
= 10 1) A function which is to be maximized i 1S cﬁ/\ =
é X SR g
= a) Maximum function hin im function c¢)Bothaandb v d) Objective function =
- x—1 N =
= 1)Iff (x) = thm@§})w =
% a) Odd function b) Even function v ¢) Neither even nor odd d) Bothaand b %
§ function g
§ d _ 1 §
= 103)— (x+4) /3= =
L 10D (x4
. 1 2 3 1 :
= a) o b) 1 c) 7 vd) | 5 E
= 3(x +4) /3 3(x +4)3 (x +4)73 3(x +4) 73 :
% _1-2 .-}-. 2 %
= 104) An equation of tangent to the hyperbola — — F — 1 at the point (x,,y;) is =
= a- I =
- e S i Ly . XY Axy V¥V Xxq YW =
= P f11 : }ﬂ1_ _ 1 b) ﬂ1 . } _1 )t ¥ P 1 _ 1 =
= 7 A b= i i b= Q b a b =
% 105) The coordinates of P in XY - coordinate system are (8, 10) and axes translated through O' (3,4) then xy - coordinates %
% will be %
= | 2(10,4) vb) (11,14) O (-14.11) (2.9) %
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= | DfiX =X b)fi1¥ =X Of:¥Y =Y vd fi X =Y :
g 107) Equation of line with x - intercept: =3 and y - intercept: 4 is %
g a)4x-y+36=0 b)4x+y—36=0 VC)4X-3y+12=0 d)Zy—3x=5 %
% L g
= S | :
= 108) j = dE = =
= ] 14 x= =
= | a) s vb) — o) s d) zero =
= 2 4 4 :
5 109)] g5 Gl ¥ dlE = =
I L Dsing e lh ¢ | Vet e D In(es7%) + ¢
= COSX =
% 110) The nature of point of intersection 3x -y -4 = 0 and x% + y2 =0 1g %
g a) Imaginary +b) Real and distinct ¢) Coincident d) Rational %
% 111) The ordinate at any point P of the parabola, is a mean proportional between the length of the latus rectum and %
= | @) Diameter b) Axis v ¢) Abcissa of P d) Focal chord =
% 112) The line through the centre and perpendicular to the focal axis of hype%mfla\i\s called %
g AN \“*-gf §
= va) Conjugate axis b) Transverse axis C)\ﬁﬁ) [ ax1s d) Minor axis =
g ' - S N o » =
= 113) Each point of the feasible region is called a AN E_@f the system of linear inequalities: =
g ;'(/ E'H\\\\) - g
= v a) Feasible solution b) Solution set {\ﬂﬁ_;j c) Test point d) Corner point =
=  adod =
= X 7 N\ =
= 3 ,Sj%§ :
% 114) J‘ ser= xdy = fj.;\ {,&f %
= R\ =
= ’ (\iw =
= QRVINZ =
= | e Q\/@é c) zero vd)l :
§ 115)x =asec &, y = b tan & represent the equation of %
% va) Hyperbola b) Ellipse c) Parabola d) Circle %
% 116)J 1.5,."'1“2— —a* gr= %
% ) v'b) c) d) none %
§ A [0 9 + a: l ‘ + [T 9 + X [ » " a: l ‘ + [ » " + X [ 7 A a: l ‘ B " g
= % =8 T—HIXTNY =& T | =X " —@" ——M|XTNX"—8%|TC | =X —8" ——lm|X¥—yX"—0a" =
= |2 2 2 2 A el -
g P .l i l'_i"!,," g
= 11DIfy =[yx ——=] then —= =
= ' \ VX dx =
g ; 2 . - - 7 _ v — _l %
= v3a) - _ ! b)(x<+ 1) &) x°+1 3 il =
s X~ X - =
g dyv E
= 118)Ifx=1-t"andy = 3t* - 2t then — = =
= dx :
= | -3+ 1) b)3 (t- 1) vo)-3(t-1) D3+ 1) -
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123)—[ e® (sinx + cosx) dx

vayersiny + ¢

b)e*cosx + ¢

c)—e*sinx +¢

de*sinxcosy+ ¢

1
124)J‘— dx =7
X

1 1 , 1
a)— + ¢ b)———= & volnx+c d—+¢
-.:!I.f-r.. A A
125) The point where parabola meets its axis is called
K/_./'“\
a) Focus b) Eccentricity V) \{gﬁegjs d) Centre
1 )~
126)f - idx =7 A O
I x<+ 16 Of\i«{\\j ,
X 1 x > SN X 1%
a)tan—+ ¢ b) = tan— (W) = LE dtan™1-+¢
4 )4t3ﬂ4+f3 /\\KZQJQ 0)41:311 ZvE 1
NN
f —0>"
127) For x;,x, € \@, b}f 1s decreasing onﬁhe{iﬁtﬁwal (a,b) for x5 = x if
. " PN \Cf \L,,w. | B} | . | . i 4
a) flxy) < flxz) v 132 s < f(xq) o) flx1) = flxz) d) flxg) = fxz)

.H\\ -
128) Volume and speed are fg@/ﬁysof

a) Vector quantity

vI +b) Scalar quantity

¢) Constant

d) None

129) A linear inequality concerning the problem from everyc

ay life 1s named as:

« a) Problem constraint

b) Problem constraints

c¢) Non-negative

constraints

d) Linear Programming

130) The perpendicular bisector of any chord of a circle passes through the

of the circle

a) Radius

b) Diameter

¢) Tangent

« d) Centre

. x
131)j - dx =
x=+1
1

x
a) — tan 1 (—) +
a a

b)In(x2 +1) +¢

o) (x*+1)°
2

+C

1 ’
Vd)Eln{x* +1)+¢c

132) If ¢ € Df and }'” '[E} = Oor _;"” 'LE::I does not exist then the number c 1s called

a) Absolute value

b) Extreme value

«¢) Critical value

d) none

133) Equation of line bisecting second and forth quadrant is

Please visit for more data at: www.pakcity.org
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va)(-1,2) b) (1,2) c)(1,-2) d) (-1,-2)

120) zz i Z: —
a) tanhx +b) cothx c) sechx d) coshx

121) The function f{ X} = sin x is increasing in the interval
va) {_?T : g) b) {_T"T J_ %) N [_;, ;r] d) [, 7]

122) Which of the following quantity is vector
+ a) Momentum b) length c) Speed d) Volume
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élllIIII!IIlIIlIIIIIlIIIIIlIIIIIlIIIIIlIIIIIlIIIIIlIIIIIlIIIIIlIIIIIlIIlIIlIIlIIlIIlIIlIIlIIlIIIIIIIIIIIlIIIII!IIIIIlIIIIIlIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII;I_=
% ahi sy vb)x =-y )x-y=1 dDx+y=1 §
% 134) Let 1 and ¥ are vectors along two adjacent sides of a parallelogram, so area of parallegram is %
= | Du.w b) |u v Vo) |u X v d) |u—v| :
% 135) Ifth lines a;x + b,y + ¢; = 0 and a,x + b,y + ¢, = 0 are parallel then g
§ \/a) alb2 + 31b2 %0 b) albz-azbl = () C) alb2_azb1 =0 d) alb2 s azbl - 0 %
% 136) The linear function f(x) = ax + b is an identity function if %
% a)a=0,b=1 bla=1,b=1 vc)a=1,b=0 d)a#0,b=0 %
g 137) The feasible solution which maximizes or minimizes the objective function 1s called: %
% ¥ a) Optimal solution b) Feasible solution c) Objective solution d) Solution %
% 138) The nature of tangents drawn from (2, 3) to the circle X2+ y2 = 0 is %
% a) Coincident +b) Real and distinct c) Imaginary d) None %
% 139) Measure of the central angle of a minor are 1s double the measure of angle subtended in the corresponding %
% v a) Major arc b) Circle c) Segment d) Sector %
g ' -3y = + v 4= 12 i §
= 140) Corner Points of 2x -3y = 6 and 2x + 3y = 12 is ,1;\ ,:\ E
E 3 . (3 | o D < 2 | B E
- EO(‘#’*) Vb)(ﬂi) c)(gﬁ. )‘/ d)(—_.ﬂ) =
- RS =
= 14 1) The two separate parts of hyperbola are called its = )% ’ =
= i J =
= '-’f\\\f L~~~ =
% a) Vertices «b) Braches (j:\\}\) ¢) Foci d) Directrices g
% 142) An expression involving any one of t]Qi W@ms < £ %
% is called: (\ﬁw %
% a) linear equation <\f\’ % [nequation ¢) Identity d) Equation %
= - w 5
= 3 :
E 143) | s5in2x dx = =
0
% va) E b) % c) 1 d) All are incorrect %
= 144) In equation of ellipse 52 + - = 1,{a = b)the fociare =
% Va) {IEI.I i':] b) {_i Ery ﬂ:} C) 'Izl':, [::]l d) {il':_.- il,"_-.} %
g 145) a test point 1s the point which 1s of the corresponding equation: %
% a) On the graph +b) Not on the graph c) Below the graph d) Above the graph %
§ oront; o W, -
- 146) The order of differential equation 2 x oy iy xe —1is =
= ¥ :
= | vl b) 2 0)3 14 :
% 147) The non - negative constraints are called: %
% a) Coefficients b) Solutions v ¢) Decision variables d) Vertex %
%IIIIIIIIIIIIIlIIIIIlIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIlIIlIIlIIlIIIIIlIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIlIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII‘|E=
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%IllIIII!IIIIIlIIIIIlIIIIIlIIIIIlIIIIIlIIIIIlIIlIIlIIIIIlIIlIIlIIIIIlIIIIIlIIIIIlIIIIIlIIIIIlIIIIIIIIIIIlIIIII!IIIIIlIIIIIIIIIIIlIIIIIIIIlIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII;I==
g 148) Gradient of straight line 3y = 2x + 5 is %
= va)— b) — c) — d) — =
= 3 2 3 3 =
= 149)(1, 1D is a solution of the inequality: %
g | vodxray<e blz+ dy>§ c)x-2y>6 d)2x +y<0 -
% 150) The value of a for which a parabola y2 = 4ax passes through the point (2, 3) is %
= | va)= b) — o) — d) — =
= o 3 3 3 =
- d :
E 151) (10g10X)= E
= adx :
= ' . 1 =
= | vo) 1 _ b »In10 1 E
= x.In10 X.Ina X ¥ =
% 152) Slope of a horizontal line is %
g Va) zero b) 1 ¢)—1 d) undefined %
g 153) The graph of x” + y2 = a’ is %
% a) Straight line +¥b) Circle c) Ellipse d) Parabola %
- 2 a2 S =
= x ( Q =
= 154) Length of latus - rectum of hyperbola — — 11is — /9\{{)\ =
- a” b (Q) =
- b* 2b {\& 2 =
= | va) - bd — o 4"{‘2%::? d) 2a =
. a 0 | K;j,m b T g
g | vV 2 42 /\I/L\/ g
= 155) Foci of the hyperbola- — q o~ x\}\P =
= 16 9 o> -
= . — St AN Y : o = =
= | (0, 17) vb) Lﬂg;\S}/\f c) (5,0 d) (4, 3) =
% <W” =
= . _ .. R E
= 156) Equation of'y — axis is (&y\/ %
% a)yzo va)X=O C)y:a d)x=a %
% 157) The approximate value of e is %
= | @28 b)2.7123 v¢)2.718281 d)2.7 =
% 158) Angle bisectors of a triangle are %
% a) parallel b) Collinear c) Perpendicular + d) Concurrent g
% 159) A line perpendicular to the tangent at the point of tangency is called %
% ¥'o) Narns b) Secant c) Axis d) Diameter %
% 160) f{ex + sec?x)dx = %
% a) (e* + secx) + ¢ vb) (¥ + tanx) + ¢ c)e® +tanx + ¢ d) e* +secx + ¢ -
% 161) A line joining two distinct points on a parabola is called a %
% +a) Chord b) Directrix ¢) Axis d) Latusrectum %
g 162) It f {I_}' = ,.h_.-'j[:: — 4, then domain of f'1s (162 g
%IIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIlIIIIIlIIIIIlIIIIIlIIIIIlIIIIIlIIIIIlIIIIIlIIIIIlIIIIIIIIIIIIIIIIIIIIIIIlIIIIIlIIIIIlIIIIIlIIIIIIIIIIIIIIIIIlIIIIIlIIIIIIIIIIIIIIIIIIIIIIIlIIIIIlIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII:|E=
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175) If the length of each edge of a changes from 5 to 5.02 then approximate increase in the volume is

v a) 1.5 cubic units

b) 1.7 cubic units

c¢) 2 cubic units

d) 0.5 cubic units

176)ax+b=0is/an?

a) Equation

vb) Inequality

c) Identity

d) linear equation

177) The point (-3,-3) lies in .. quadrant:

Please visit for more data at: www.pakcity.org

T S
% va) b) (—oo,+o) ) [-2,2] d)[-3,3]

g (—oo,—2] U [2,+ oo)

% 163) The unit vector along y — axis is :’%’pa kCity.Org %ﬁ

= | wi i vo] ) None

% 164) Iff: f= X — ¥ then set X is called

% + a) Domain b) Range c) Dependent variable d) Co-domain
% 165) The distance of P(2,-1) from x - axis is

= |22 b)-1 vo -2

g 166) (1, 0) is not the solution of inequality:

% a) 7x + 2y <8 vb) x -3y <0 c)3x + 5y <7 d)3x +5y<5
g 167) A line that touches the curve at on point is called

g a) Secant b) Radius ¢) Directrix vd) Tangent

g 168) If f(x) = 2 + +/x — 1, then range of 2 (x)is

= | D2 +e) vb) (1, +00) ) (—e,2) D [1, +o0)
g 169) The centre of circle x> + y2 + 12x-10y =0 <() \VO\\

= | 069 b) (=6,-5) ) (@6 5) (6,5

= W5 X5

% 170) The line segments formed by joining the mid p(}mﬁ @e sides of a quadrilateral taken 1n order form

g a) Trapezium b) Cube o~ \{, 03\}\/ v ¢) Parallelogram d) Square

g 171) A second degree equation ax” + bx%&\zgx 2fy + ¢ = 0 represents parabola if

% ¥ a)eithera=0orb=0 /l\\h)xk>b c)a>0,b<0 d)Botha=0,b=0
g 172) The function Off'li;‘f} S/E\Z = 1s not continuous at

% a)x = . vb)x=0 c)x =1 d)x=2

= 3

% 173) Ify = x* - 1, then dy is

% v a) 2xdx b) (2x - 1) dx ¢) 2xdy d) x*- 1) dx

% 174) If |a@i + (@ +1)j + 2k| = 3the @ =?

§ va)l,-2 b) 1,2 c)—1,-2 d) 1

%
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élllIlII!IIIIIlIIIIIlIIIIIlIIlIIlIIlIIlIIIIIlIIIIIlIIIIIlIIlIIlIIlIIlIIIIIlIIIIIlIIIIIlIIlIIlIIlIIlIIIIIlIIIII!IIlIIlIIIIIIIIIIIlIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII;I:
= |21 b) I v o) Il A1V

% 178) The position of the point (5, 6) with respect to the circle 2x* + 2y* + 12x - 8y + 1 = 0 is

% a) Inside +b) Out side c) On the circle d) None

- . ay .

= 179) The solution of — = cos x is

= ax

% a)y=cosx +c b)x—-y=¢ vc)y=sinx +c d) None of these
= 180) The graph of f(x) = log x lies in the

% a) 15 & 2" quadrant vb) 1% & 4™ quadrant ¢) 2" & 3" quadrant d) 3" & 4™ quadrant
= . "y

= 181) The midpoint of the line segment joining the points A (—*-..-’ o — E) : E"[—E*-.-’ 3 5} is

: 12 14 . 7
= | o253 0 (—4v5,~ ) )(245,5) va)(-2v5,2)
§ a A 3 W 3 / C 3 3
% 182) Range of f{x) = — s

= | DR={-2,2} b) R - {0} )R - {4} vdR

= [0+ 8x) — f(0

= |g3) lim fu ) — f(0)

= dx = o OxX

= | 0f(@ vb) f'(0) O F' (@) D F(8)

§ ( QH‘\\/ =

= 184) The centroid of a AABC is a point that divides each medlan 1 {1

5 .

: va)2:l b)1:2 /P}% SSTEE d1:4

= AN

= 185) Angles of line passing through (5,11) and 1S‘éﬂ%g§>with X — axis

E 7\ (

= 0 0 ® 0 0

= | Y45 b)135° <O ¢) 90 d) 225

: RSN

AN

E ax+h "N \ ax+b . T -1

= | va)l e AN v € s c)(ax + ble®* 814 ¢ | deo*td 4 ¢
= a b

= -1 ay

= 187 Ify=tan x+ cot ' x then —

= dx

g a) 1 vb) zero c) x .

= d) " =

= yi—x~

§ 188) For b > 0 the point p (x;, y;) lies below the lin ax + by + x = 0 if

% a)ax1+by1+c>0 Vb)aX1+by1+C<0 C)ax1+by1+c:0 d)aX1+by1+c£0
% 189) A circle is a special case of an

% v a) Ellipse b) Hyperbola c) Parabola d) None

% 190) 2 sinh xcoshx =

% a) cosh 2 x Vb) sin 2x c) cosh x d) sinh x

% 191) The solution region of the inequalities x > 0,y . 0 is:

% a) 2nd quadrant b) 3rd quadrant ¢) 4th quadrant v d) 1st quadrant
%
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195) A standard from of an equation circle is

) (x+h)* +(y+ k)’ =r

vb) (x-h)* + (y—k)2 T3

c)(x+h)2-(y-k)2=r2

d)(x—h)z-(y-k)2=r2

196) If y = 0 then point P(x, y) lies on

a) y - axis b) x - axis ¢) Origin d) Centre
197) If f(x) = sinx, then {1} =

a) o0 b) -1 c) 1 v d) zero

Ay

198) Ify = In x, then — =

) In x b 1 &) ﬂln@ F R A None

X X A O
RSV
199) (0, 0) is in the solution of inequality: P cH |
ﬂ_:‘\j g
a) 7x + 2y >3 b)x-3y>0 ;;“-\\5? ¢)3x +5>7 vd)3x+5y<7
PR
| ) R
200) The function f(x) =(x + 2)"is RAPAN
—
a) Even function b NEH nction ¢) Both « d) Neither even nor odd
AN

201) The graph of the parab’élﬁj(\@ 4ay

v a) Opens up b) Opens down ¢) Opens right d) Open left

202) A point of solution region where two of its boundary lines intersect, is called:

a) Corner point b) [Vertex v ¢) Both (a) and (b) d) Stationary point
203) Taylor Series Expansion is only valid if it is
a) Divergent +b) Convergent c)Botha &b d) Alternating

204) The coordinates of P in xy and XY coordinate system are (-7,-9) and (-5,-3) resp, then coordinates of translated origin

arc
a) (2,-6) vb)(-2,-6) c) (6,2) d) (9,3)
205) Equation of the directrix of the parabola y = 6x” - 1 is
—25 4 6 14
va)y = b) x = — Jog = dy =—
YT o e 7T 20 " 15

206) Ifthe centre of the circle is the origin then equation of circle is.
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. a7y
192) If v = e* *1 then Y
a) g* 1 vb) gx t1 A2x) c) ex +1 d) gx*
2x
193) If f(x) = tan x, then [ (0) =
a) zero b) oo Vo)l d) -1
194) The location of the poin P (x,y) for whichx <0 andy >0 is
a) 1st quadrant +b) 2nd quadrant ¢) 3rd quadrant d) 4th quadrant
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220) A joint equation of y =2x = 0 and y - 3x = 0 is

Va)yz-xy-fBXz:O

b)6y2—xy—xz=0

c)x2+xy+6y2=0

d)6X2+Xy+y2=0

12th Mathematics Solved MCQs www.pakcity.org
%IllIIII!IIIIIlIIIIIlIIIIIlIIIIIlIIlIIlIIIIIlIIlIIlIIIIIlIIlIIlIIIIIlIIIIIlIIIIIlIIIIIlIIlIIlIIIIIIIIIIIlIIIII!IIIIIlIIIIIlIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII;I==
% )X -y’ =r vb)x*+yt =1’ )x*+y’=r dy*-x*=r %
% 207) A set consisting of all the feasible solutions of the system of linear inequality is called a: %
% a) Solution set +b) Feasible solution set ¢) Closed halfplane d) Optimal solution set %
% 208) The focus of parabola y2 = 8X §
= |00 vb)(2,0) 2 (0,0) D5
= 209) The lines4x -y + 2 =0and 12x - 3y + 1 = 0 are %
% a) Perpendicular Vb) Parallel ¢) Both perpendicular and d) None %
% parallel %
% 210) A vector whose magnitude is unity is called %
% va) Unity vector b) Null vector ¢c) Point vector d) Radial vector §
% 211) The dot product 1s also reftered as %
% a) Scalar product b) Inner product ¢) Vector product v d) Bothaandb %
g 212) ax + by = c is a linear inequality in: %
% a) Three variables +¥b) Two variables ¢) One variab}s d) Four variables %
E (O =
= 213 ax+b=0 isa/an: 2 =
=
= a) Equation +b) Inequality A )(_si\i\gﬁear equation d) Identity g
- ¥ .5 RS Y/ =
= 214)Iff(y) =y’ +y  +vy+ 1,thenf(0)= . =
= )Iff(y) =y’ +y~ +y+ 1,then £(0) /\@(j g
g a)-1 vb) 1 %“Q%S c)?2 ~(c | d)3 %
= ' 1 =
= 215) j g% (111;1: T —) dx = (»E;\ </\, =
g - - X (Q& / E
= x N F = =
: a)ih‘l x+c (@\3\11{1,& 1+ & voe*lnx +e d)—+¢ =
= X W X X :
% 216) Centre of circle x* + y* + 2gx + 2 fy + ¢ = 0 %
= |[0G@D b) (x,¥) ) (—4:f) vd) (=g, —f} -
% 217)]#2:{ + 3(2dx) =7 %
§ - : ] : 2 2 3 3 =
= | Y)g@x+3)2+e D)5 (2x + 1)2+¢ d-5(2x+D2+c | D-S(2x+DI+e =
= 218)jcat3 x(—cosecx)dx =7 %
- cot®x cot?x cot®x cot*x =
= a) +€ b) — +C V) + d) —— +r =
% 219) The slop of vertical line 1s %
% a) | b) zero « ¢) undefined d) -1 %
% :
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g 221) The distance between centre and any focus of the ellipse 1s denoted by ¢ and 1s given as %
% Va) = _II.I.I'&Z . b: b) e .I‘I"lﬂz _I_ b: C) i .,Hlillbz — ﬂ: d) L,—: _ EE + bz %
% 222) The line joining the centre of a circle to the midpoint of a chord 1s to the chord %
g v a) Perpendicular b) Parallel c) Bisector d) Tangent %
% 223) Equation of the line passing through (-8, 5) having slope undefined is §
% a) 8y + 5x =0 vb) x = -8 c)y=5 d) 8x=5y=12 %
% 224) j 5in 3 xdx =7 %
: H)EDSEI +c vb) i +r c)icosx+c d)—3cos3x+c =
= 3 3 :
g 225) A function fis said to be even if %
= | Df@-f)=0 | b)fx) =F(x)? O Fx) = —f(x) vd)
% fl—x) = fx)Vxe D %
% 226) To find the optimal solution we evaluate the objective function at: %
% + a) Corner points b) Only origin c) Any point d) All points of feasible %
% C?@ region %
E - P NN\ 5 =
: Il (O) =
= tan x 2050 §
= ) _ ] - %"J A 2 =
= | sec” X | vb)ln |tanx| + g\ :@ o)ln|cotx|+ ¢ d) In|sec?x| + ¢ :
= - _ —— i
= d [e¥*+e % ,6%{0 =
= 228)— = ) RQ =
= ax\ 2 ~N OV §
% a) coshx /&m C) —sinhx d) sechx g
: N =
§ 229) The shortest distance b%w%n the lines 12x + Sy-6=0and 12x+ 5y + 12=01s E
% s 19 5 10 =
= a) — vb) — 6)—= d) — =
- 13 13 4/ 8 19 =
% 230) x = 5 is the solution of inequality: %
% va)2x-3>0 b)2x+ 3<0 c)x+4<0 Dz 42<0 %
= 231) Eccentricity of the ellipse is %
E 2 7 B = E
g \/a)E:— b)E_Eﬂ C)E_ﬂﬂ: d)E:—_ =
g 232) The point at which the line cuts x = axis is called %
g a) Origin b) Centre v/ ¢) x - intercept d) y - intercept %
% 233) The value of [kij] is %
g a) zero b) -1 Vo)l g %
= _ ady =
= 234)Ify = sin 2x, then — = =
= dx §
% =

Please visit for more data at: www.pakcity.org



247) Domain and range of a liner functions are

12th Mathematics Solved MCQs www.pakcity.org
%IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIH==
g Vv a) 2c0s2x b) -2sin2x o) 668 0% )3 vas Ik %
- —1T T %
= 235) The area bounded by cos function from 5 Lo 5 1S =
§ 236) If &, i, ¥ direction angles of a vector then cosa, cosf, cosy are called %
% a) Direction angles b) Direction components + ¢) Direction cosines d) Direction vector %
% 237) The common intersection point of all the generators of cone is called %
% a) Centroid b) Apex ¢) Vertex «d) Bothb & %
% 238) Region which 1s restricted to the first quadrant 1s called: %
% a) Half plane +b) Feasible region ¢) Solution region d) Closed plane %
% 239) If f{x) = In (1 + x) then by Maclaurin Series fx) = %
E 2 7 §
g 2 3! {47 4x% Bxd 1 +_*}:: _-1:3+ x2 3 4t %
= 1+ 4x1 | o — X i | K | | =
= 21 3! 2! 3! 2 3 4 =
% 240) Ifa = e, then log, x 1s known as %
g a) Common logarithm b) General logarithm vec) Natur(ale@r;ithm d) Exponential function %
E /Ex‘x\b/,. - g
= ( -
= 241) General form of an equation of a circle is X &/ =
g QA“‘" ”“Q\. g
= '/a)x2+y2+2gx+2fy+ b)x2+y2_2gx—2fy+9}0®bﬁ +y2+2gx+2fy-c= d)X2+y2+2gX+2fy=O :
g c=0 0 {\\ﬂ)}\y 0 %
= e N %g\) -
= 242) j flx)dx = ) s\g §
g L \’A‘Q;\ C" Wy g
= b . /‘\g. ; a ” g
= |2 _J‘ fx)dx P&Mdf vc) —j fx)dx d) A -
g & ﬂsfﬁ \ b g
- i i =
§ 243) The parabola x% = 4ay, a <0 opens %
g a) Right side b) Upward v ¢) Downward d) Left side %
% 244) If 1. ¥ and w are conterminous edges of a tetrahedron, then its volume %
E b O ) 1 1° 2 7 . 1 =
= |2 ;. (b x )] vb) = [a. (b x )] c) > [a. (b % )] d) e (b x )] =
= 245) Equation of normal to hyperbola — EJ — — 1 at the point (x, y,) is =
= 1= . E
g ﬂz}f b :}1 2 g E'E':![- ‘E:l " .]" - = ﬂ':"t- b E:!'? - - ﬂ-z.:': z 1 - - E
= | =a’— b’ F—==a’+b? _ = 0%+ b? -~ L —a?-p2 | =
s Aq ¥ Xy W Xy ¥ Ty Vy =
% 246) Projection of b = —21 — j + galongﬁ = 3i‘+j—.i5:1$ %
: v — y— Yoo o =
= |V b) == ) = d)— =
§ ‘Hllullﬁ -l||||I ‘l-l _\I! "|_,.|' g
% :
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g ) Nasueal mumbers b) Whole numbers c) Integers +d) Set of real numbers %
% 248) The procedure for determining the optimal solution for a problem involving linear constraint is called: %
§ a) Objective function +b) Linear programming ¢) Convex region d) Optional solution %
% 249) Ify is easily expressed in terms of x, then y is of x §
% a) Implicit relation b) Parametric function c) Linear relation « d) Explicit function %
= 250) | —dx =: =
= yi1—x" =
% Va)sin_ x+c b) - sin'~ x+c c)-cos | x+c d)cos ' x + ¢ %
% 251) The notation Df(x) is used for derivative by g
% a) Leibniz b) Newton c) Lagrange vd) Cauchy %
% 252) Two conics will always intersect in at most %
% a) Two points b) Three points « ¢) Four points d) One point %
: 1 E
= * =
g ml — vo)ln|: -- ) =
= a)ln(— +c b)—+ ¢ c)in|x| + ¢ d) zero =
= X/ = -
= (O =
- D) ]
= 254) The point of intersection of the linesx -2y + 1 =0and2x -y + 2r"£§)"g’ " E
§ \"A <) g
= | 20,0 b) (-1, 1) P10 D0.-1)
= 7 (\i\”} = =
g 255) Domain of f(x) = x*is /\\!/LQ %
g e \)h g
% a) {._mx EI] b) [ﬂ. Eﬂ?,l C/E::j\{ Ox vc)R d) (0! 1] g
- _ dy O =
= 256)Ify=sinh 'x, then — = ,f\f \ v =
= dx A~ s
= \ =
= va) 2] f}' b - C) ¥ d) I 1 =
g .I'm’l-l + xr= QXS\ _llhﬂ.- — gl _II..',, — y2 "'.'l-l + o2 g
% 257) The functiony = e®™ is a/an function. %
% a) Logarithmic +b) Exponential ¢) Hyperbolic d) Constant %
§ 1 g
= T1 =
- ZSS)J _ 5 dx =? =
= | N o =
= ) =
= T T T =
E | W)z b) — ve)— d) =
= - '3 4 =
= N R - %
= 259) Eccentricity of hyperbola — El - =1 O% pd kCIW.OTg%D -
= = 3= =
g | P 2 J o2 2 NI e (2 §
= | 0E ° VDR JYE —8 d) 7 2 + b2 =
g c2 P ) W E
= 260)Ify =™ theny, = %
% va)16e™ b) 8¢™* o) 42X 1) 26" %
% :
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261) j e X cor gy —7

va)e™  +c b)e X +¢ c) e +¢ d) e X +c
262)v=1i— 3j+ 4kandw = ai+9j — 12k are parallel so value of & i

a) Zero vb) -3 c)3 d) 10
263) The value of [EE 3_._? 4&] 1S

a) -9 v'b) 24 c)9 d) -24

264) The system of linear inequalities involved in the problem concerned are called:

« a) Problem constraints

b) Solution

¢) Coefficients

d) Half plane

265) The line represented by ax” + 2hxy + by2 = 0 will be real and coincident 1f

a)h” ? ab b)h* <ab vc)h® =ab d) none
266) The graph of y2 = 4ax 1s symmetric about

a) y = axis ¥b) x - axis c) Both axes d) Origin
267) length of the vector 21 + j— 2 kis

a) 4 vb)3 )2 4(O d) 5
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